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10 -std UNIT TEST - Marks © DUSH
: MATHEMATW

Time : 1.30 Hrs

— 187 3, 4, 5}

I

1,

~ given by ap = 5.
. Find the sum of 102

Choose the correct answaer.
If there are 1024 relations from a set *”‘_'d { ’
to a set B, then the number of element IN 5’)';

a)3 b) 2 c) 4 e

Let A= {1, 2, 3,4} and B = {4, 8, 9, D}Afunim g .

f: A->Bgiven by f = {(1,4), (2, 8), (3, 9)s (4

a) Maéy - one function b) jdentity function

c) one - to - one function d) Into function

The sum of the exponents of the prime factors in the

prime factorization of 17294e a)1 b)2 ¢ 3 d4

The next term of the sequence 3/16, 1/8, 1/12, 1/18,
a) 1/24 b) 1/27 c) 2/3 d) 1/81

If fis an i_dentit'f functlnn,_then the value of

(1) =2f(2) +f(3)is " §8 b)0o c)-1 d)-3

Answer any five of the following questions.

Question No. 13 is compulsory. 5x2 =10

IFBXA={(-2, 3), (-2,4),(0, 3), (0, 4), (3, 3), (3, 4)}
find A and B.
A relation R is given by the set {(x, y)/y = x + 3,

Xe {0, 1, 2, 3, 4, 5}. Determine its domain and range.
: X —=> y definéd by f (x) = x2 - 2 where
x=4{-2,-1,0,3}and y = Ft List th element of f.

Find k if fof(k) = 5 wheref K) = 2k-1.

A relation f :

Find the least positive va! je fK such that 89 (x + 3)

(mod 4). : 3

Find the indicated terms of Sequences whose pth terrn Is

dg and a13
Up to 27 te

i) Write an A.P. whose
is 0, (IIJ erte a G.

ratio is 1.
t
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III Answe

14.

15.

e,

17.
i8.

19.

- 20.

21.

IV

22.

Draw a triagle ABC

r any five of th

| ng questions. dasalai.
' No. 21 is compulsorysss 9 s . :55 Q:;SW&W

= 2,3,4) Snd g .
sets, Let I - ) " nction give by f (x) = 3x - 1.
Represent this functiongss -
A function f is defined -.;._._"'f (x) B 3
i) f(0) + f(1) i) Find X8 Sl.lth that f (x) = 0

2 *‘
jii) Find x such that ! nq =x,
jv) Find x such that f QO = f (1 - x).
f(x) =x-1, g(x) - 3% and h (x) = x2 . Show that
(fog)oh = fo (goh).
Find the HCF of 396, 04, 636.
If a, b, c are three CO ﬂb&tutwe terms of an A.P.and X, ¥, Z
are three consecutive terms of a G.P. then prove that
xh"c X Y'l:'a ¥ Za- -b =1
Find the sum of the GeOMetric series
3+6+12 +...... + 1538
Rekha has 15 square colour papers of sizes 10cm, 11cm,
RN, .- 24cm. Howimuch area can be decorated with
these colour papers. *~;,-
A=1{4,6526,7}b {6?89]C-(0123}and
D ={1,3,5}find (i) (A )x(c D) (i) (AU B) x (CAD).

Answer the following 2x5=10
Construct a triangle s ilae to a glven triangle LMN with its

sides equal to 4/ of th T D nding sides of the tnangle
LMN. (Scale factor 4/ (C |

ﬁcm e 40'* and the
that CBJ? )

tﬂmr of /4 meets
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